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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i)
(it)

This question paper contains 38 questions. All questions are compulsory.

This Question Paper is divided into FIVE Sections — Section A, B, C, D
and E.

(iit) In Section—-A, questions number 1 to 18 are Multiple Choice Questions

(iv)

(v)

(vi)

(MCQs) and question number 19 & 20 are Assertion-Reason based

questions of 1 mark each.

In Section-B, questions number 21 to 25 are Very Short-Answer (VSA)

type questions, carrying 2 marks each.
In Section—C, questions number 26 to 31 are Short Answer (SA) type
questions, carrying 3 marks each.

In Section—-D, questions number 32 to 35 are Long Answer (LA) type

questions, carrying 5 marks each.

(vii) In Section—E, questions number 36 to 38 are Case Study based questions

carrying 4 marks each. Internal choice is provided in 2 marks questions

in each case-study.

(viii) There is no overall choice. However, an internal choice has been provided

in 2 questions in Section-B, 2 questions in Section—C, 2 questions in

Section—-D and 3 questions in Section—E.

(ix) Draw neat diagrams wherever required. Take 7= = % wherever required,

(x)

if not stated.

Use of calculators is not allowed.
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gug —h 20x1=20

T WIS T 20 Y99 3 9T TAeh 1 1 37 2 |

1. e TR gm x + 2y + 5= 0 AT —3x = 6y — 1 1/ 1
@A) gz |
(B) AEHICIEARE |
(C) STuffid &9 3 3k g1 1 |
(D) SEEATEE |

2. WHRAR oo, g Ty e e s 1
A —2x B) -2
©) 2 (D) 2x

3. I UTHI %I Teh A1 IBTEAT 7T | 31 T T F&ATE 371 <h TTRIehd & : 1
(A) 1/6 (B) 5/6
€ 13 D) 2/3

4.  Tore TiET o T TR < TR IO R STAH M ﬁEIT&IEb_dT%% | Afg 3THH §RT 38

aﬁqﬁﬁﬁmﬁw%%?ﬁxwm%: 1
A) 2 (B) 3
(C) 4 D) 6
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SECTION - A 20x1=20

This section consists of 20 questions of 1 mark each.

1. The pair of linear equations x + 2y + 5 =0 and —3x = 6y — 1 has 1
(A) unique solution (B) exactly two solutions
(C) infinitely many solutions (D) no solution

2. The common difference of the A.P. 1
1l 1-4x 1-—-8x )
ox’  Ox 1 gg e 1S
A —2x B) -2
©€) 2 D) 2x

3. Two dice are thrown together. The probability that they show different

numbers is : 1
A) 1/6 (B) 5/6
(C) 1/3 (D) 2/3

4. The probability of guessing the correct answer to a certain test question is

6 If the probability of not guessing the correct answer to this question is

%, then the value of x is : 1
A) 2 B) 3
© 4 (D) 6
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e a=22x35b=22x3x5¢c=22x3x7au LCM (a, b, c) = 3780 8, dl x
HAAE :

A 1 B) 2
©) 3 D) 0

foama sge 242 — 3x — 9 H IIH ¢ :

@ 3,5 ® -3,5
© -3, O 375

i T e we foig, ST ueh Hielt @St AR % 916 § 30 m 3 gl W 7, ¥ WHR % e
T I~ 10T 60° B, A1 HHAR shi SHarg (Hiel ) B

A) 10\/3 B) 303
(C) 60 D) 30

qﬁcos€)=12@ﬁ?ﬂsin¢=%%,?ﬁtan O+ 7:

@) 3 ®) ﬁ
) 1 (D) ufeya &t

Tl T3 feigaii W fdeesg i a1t & gal W il 31 Thel aTell AW T3i-
@Al s FAferehad e ¢ :

(&) 4 (B) 3

©) 2 D) 1
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5. Ifa=22x3b=22x3x5¢c=22x3x7and LCM (a, b, c) = 3780, then x

1s equal to 1
A 1 B) 2
€ 3 D) 0
6. The zeroes of the quadratic polynomial 2x% — 3x — 9 are : 1
=3 =3
@ 3.5 B -3.5
3 3
(C) _39 2 (D) 37 2

7.  From a point on the ground, which is 30 m away from the foot of a vertical

tower, the angle of elevation of the top of the tower is found to be 60°. The

height (in metres) of the tower is : 1
A) 1003 B) 30\/3
(C) 60 D) 30
3 . 1 :
8. Ifcosb= 9 and81n¢=§,thentan(6+d))1s: 1
@ 3 ® -
\3
) 1 (D) not defined

9. Maximum number of common tangents that can be drawn to two circles

intersecting at two distinct points is : 1
A) 4 B) 3
©€) 2 D) 1
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10.

11.

12.

13.

@ g 3Tepfd H, g O Il I i Th wRi-t@1 PT 3¢ 36 YR & o6 /TPO = 35°, @1
Lxﬁﬁrﬂq%’:

(A) 110° (B) 115°
(©) 120° D) 125°

afe weh TgHt o forshvl weh gEt bl wwTuTd H fawiiord vt &, A1 I TS R
(A) FHR IqYS B) I
© i (D) wweT

&1 718 3Th(d H, AABCH DE || BC® | 3¢ AD =2 cm, BD =3 cm @1 BC = 7.5 cm
8, A DE 1 &@18 (cm ®) 7 :

A
D E
B C
A 2.5 (B) 3
©€) 5 D) 6

feam 2 % HCF (2520, 6600) = 40 71 LCM (2520, 6600) = 252 x k &, dI k &l
13I'I7-[% :

(A) 1650 (B) 1600

(C) 165 D) 1625

30/3/1/CD1BA/22 Page 8



10.

11.

12.

13.
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In the given figure, if PT is a tangent to a circle with centre O and
ZTPO = 35°, then the measure of Zx 1s :

(A) 110° (B) 115°
(©) 120° D) 125°

If the diagonals of a quadrilateral divide each other proportionally, then it
isa:

(A) parallelogram (B) rectangle
(C) square (D) trapezium

In A ABC, DE || BC (as shown in the figure). If AD = 2 ¢cm, BD = 3 cm,
BC = 7.5 cm, then the length of DE (in ¢cm) is :

A
D E
B C
A 2.5 B) 3
€ 5 D) 6

Given HCF (2520, 6600) = 40, LCM (2520, 6600) = 252 x k, then the value
of k 1s:

(A) 1650 (B) 1600
(C) 165 D) 1625



14.

15.

16.

17.

18.

T T3 1 Ueh I SHehT UGS TE B, B

A) (/16,4) B) (/5,/2)
©) (/3,427 D) (/36,1/2)

Ife &l 1, 2, 3, 4, 5, 6, 7, 8, 9 T ¥ AIgTHAT Ueh TEAT T T8 A1 Teh foyw 3197y
AT o YA A hl TTRERAT B :

(A) (B)

Ok W

©) D)
T T&TUT kT IS 15 & | ATC S0 TIH o TRI0T <hT {1 14 & 99T TR i J&Tot <hl
T 17 8, a1 e Y g -

A) 20 (B) 19

(C) 18 D) 17

7 cm T3 101 U 9 ok 39 FrseRavs, S %hg TR 90° T I0T FANT HLAT 7, T TRAT
2.

(A) 35cm (B) 1lcm

(C) 22cm (D) 25cm

& 7T 3T H, O I 1 hg & | MN T Sfar 2 a2t foig M T wri-Tan ML 36 FohR 2
b I8 MIN & |1 70° 1 10T ST & | L MON ST A9 2 :

(A) 120° (B) 140°
(€ 70° D) 90°
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14.

15.

16.

17.

18.
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A pair of irrational numbers whose product is a rational number is :

A) (/16,4 B) (/5,/2)
©) (/3,427 D) (/36,/2)

If a digit is chosen at random from the digits 1, 2, 3, 4, 5, 6, 7, 8, 9; then
the probability that this digit is an odd prime number is :

(A) (B)

(©) D)

Ol Wi

The mean of five observations is 15. If the mean of first three observations
1s 14 and that of the last three observations is 17, then the third
observation is

(A 20 B) 19

(C) 18 D) 17

Perimeter of a sector of a circle whose central angle is 90° and radius 7 cm
18 :

(A) 35cm (B) 11cm

(C) 22cm (D) 25cm

In the given figure, O is the centre of the circle. MN is the chord and the

tangent ML at point M makes an angle of 70° with MN. The measure of
ZMON is :

(A) 120° (B) 140°
(C) 70° D) 90°



réw : w19 e 20 FAfpYT quT deh UG 991 & | Teh T3 1§ Ush AU (A) % e
T deh (R) YA fean 2 | faepedi (A), (B), (C) @um (D) ¥ & T&t 3R 1 fesbeq g |

(A) IR (A) T T (R) GHI G & a1 @b (R), 31T (A) i gl Smen i ¢ |

(B) 3UHUA (A) a1 qeh (R) SH1 T & T o (R) AMHUA (A) 1 e & = |
(C) AR (A) &cd &, T T (R) IHAE |

(D) MY (A) TS &, feh deh (R) T 7 |

19. @A (A) : fagaft A (1, 2) 91 B(-1, 1) %I fia™ aTc1 {@TEve &1 A &9 8
1:2ﬁﬁwwwﬁg(§l,§)%l

T (R) : fogati A(x,,y,) @1 B(x, , y,) HI M ol W@HETE Sl m, : m, §

fepfor e e foig 5 s (mﬂcz T mox; myy,+ mzY1] |

M
m,; +m, m; +m,

20. ANHYT (A) : Tk Tohehe B9 H Uh Soiarsl, Wedl T8 45 el § § 9 Tgl YT el AT

2 |@ﬁqmaﬁam%ﬁwwﬁﬁum%cn%% |

Tk (R) : P(E) + P(E &) = 1
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Directions : Questions number 19 and 20 are Assertion and Reason based
questions carrying 1 mark each. Two statements are given, one labelled as
Assertion (A) and the other is labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given

below :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the

correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : The point which divides the line segment joining the

: : : : . (-1 5
points A (1, 2) and B(-1, 1) internally in the ratio 1 : 2 is (? , g) 1

Reason (R) : The coordinates of the point which divides the line segment

joining the points A (x;, y;) and B(x,, y,) in the ratio m; : m, are

[mﬁ‘z T mox; myy+t m2y1]
b
m; +m, m; +m,

20. Assertion (A) : In a cricket match, a batsman hits a boundary 9 times out
of 45 balls he plays. The probability that in a given ball, he does not hit

4
the boundary is 5 1

Reason (R) : P(E) + P(not E) =1
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T -9
THEIS T 5 T & a1 Tk o 2 3Tk @ |

21. 52 Ul hl TS TR H el TS A1 61 TE H § ATgosa1 Teh U1 Hehtell T | STRehar

T <RI fo ForehTeTT T Tt (i) O Y ST R (i) T[T STetT O T8 § | 1+1

22. (a) IR 2x+y=13qA4x—y =177, A (x — y) I HE FTd HITT | 2
YT

(b) < HEAT3T 1 IMTHA 105 & AT 37ehT I 45 B | HEATE [d HIFT | 2

23. (a) 3G g P(x, y), fogati A(7, 1) 71 B(3, 5) & THGEY 7, ql x AT y % s &l

e AT HIT | 2
JegaT
(b) f§g A1, y) @1 B(5, 7), g O(2, —3y) arei Ia W feora 31 W fog 2 fh AB 3@
1 T M ¢ | y 1 TH 1T I | I i B o [ HIT | 2
24. ﬁﬂé@r@%ﬁg—‘é:% 2, frg #Ifw &5 AEAB ~ AECD 2

S cos 45° + sin 60°
25. HH 3 " sec 30° + cosec 30°°
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21.

22.

23.

24.

25.

SECTION - B

This section consists of 5 questions of 2 marks each.

One card 1s drawn at random from a well shuffled deck of 52 cards. Find
the probability that the card drawn

(1) 1s queen of hearts;

(11) 1s not a jack. 1+1
(a) If2x+y=13 and 4x —y = 17, find the value of (x —y). 2
OR
(b) Sum of two numbers is 105 and their difference is 45. Find the
numbers. 2

(a) Find a relation between x and y such that the point P(x, y) is
equidistant from the points A(7, 1) and B(3, 5). 2
OR
(b) Points A(-1, y) and B(5, 7) lie on a circle with centre O(2, —3y) such
that AB is a diameter of the circle. Find the value of y. Also, find the

radius of the circle. 2
EA EB
In the given figure, EC = ED » brove that AEAB ~ AECD 2

cos 45° + sin 60°

Evaluate : sec 30° + cosec 30°° 2
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gug - T
T @US T 6 T & S0 Ueih o 3 37 § |
26. (a) 3Ife Uk TG S o TUH 7 UST Bl AN 49 AT THb YUH 17 TS 61 AT 289 B,
1 35k TUT 20 TSI T AN T hITTT | 3
e
(b) T HHI ISt o 109 TUT 309 9GI H 1 : 3 T UG g TIel1ch b YT B: T bl
AT 42 7 | 39 FHIGAL A 1 IUH UG TUT FT S [T hITTT | 3

27. Tgama 9gug «2 — 15 % I ATA 1T | IR TUT TEUE o TUIRhI h S o T hI

a9 hIfu | 3
28. o1 iger Tefientor T &1 UM% g0 g1 31a hifoa 3
x—y+1=0
x+y=5

29. (a) 98 UM ¥ Hiog Sy fogati (5, 3) a1 (-1, 6) 1 TaW e WErave

Y3181 g faefsa g 2 | 3
YT
(b) P(-2, 5) T Q(3, 2) & foig 7 | W@rave PQ W f&rd foig R o Femimes a =iy
arfs PR =2QR & | 3
30. g Hik .sinG—ZSin‘gB ~ tan 0 3

2 cos30 —cos 0

31. fag Sifsw fop o <1 fopelt Sfrem o Tl w i<t 78 woi-wad, Sfian & @ T|e S
T | 3
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26.

27.

28.

29.

30.

31.

SECTION - C

This section consists of 6 questions of 3 marks each.

(a) Ifthe sum of first 7 terms of an A.P. is 49 and that of first 17 terms is
289, find the sum of its first 20 terms. 3

OR
(b) The ratio of the 10th term to its 30th term of an A.P.is 1 : 3 and the

sum of its first six terms is 42. Find the first term and the common
difference of A.P. 3

Find the zeroes of the quadratic polynomial x2 — 15 and verify the

relationship between the zeroes and the coefficients of the polynomaial. 3
Solve the following system of linear equations graphically : 3
x—y+1=0
x+y=5

(a) Find the ratio in which the line segment joining the points (5, 3) and

(-1, 6) 1s divided by Y-axis. 3
OR
(b) P2, 5) and Q(3, 2) are two points. Find the coordinates of the point
R on line segment PQ such that PR = 2QR. 3

sin 0 — 2 sin> 0
2 cos3 0 — cos 0

Prove that = tan 0. 3

Prove that the tangents drawn at the end points of a chord of a circle

makes equal angles with the chord. 3
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Qe -9
TH WIS H 4 99 2 AT TIh o 5 3Tk @ |

32. (a) 2800 km = Ush gATS AT o SR, TS HIHH o HRUT IREH i 3FEd 916
100 km/h %¥ 3 ez o TSE@ A <61 999 30 e 5ig T | ga1g 9@ 61 g

H T HIT | 5
AYAT
(b) T T T & 36k 3R 6 QM 8 Th AU g | Afe fi 3T 3 Yoshd T A
2%%,aﬁﬁ4=rmaﬁﬁnl 5
33. 3MYTRT THHTIIehdT Y5 1 e Terftagu qen 56 firg Shifu | 5

34. MW % T g | Th 20 m S Wa b RIEX T ol Toh TR HIMR o e 3R R
3T 10 SHATT: 45° 3T 60° & | HFR hl HaTS AT HINIT | 5

35. (a) =TS 200 cm 3T ATYR STE 28 cm I Tsh 318 e, F58 T 38 50 cm 3T
B 7 cm 9T T AT S UG 8, T IR 1 Ueh 319 &9 §1 8 | 39 ey
T ZHH T HIfT, Fafeh feam 2 fh 1 cm3 TR FIgemMH 8 g BT R | 5
HAYET
(b) T HI Teh HHA Teh It oh TR I & TT8eh GHI o T Teh LT &1 53T

2 | | g I FEE 14 mm 2 3 E 4 mm B | 386 TR A TG
ST | 39T 31T ot FTa shIfTT | 5

7 N\
)

4 mm !

4 \,

L 14 mm

N

- —_——
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32.

33.

34.

35.

SECTION -D

This section consists of 4 questions of 5 marks each.

(a) In a flight of 2800 km, an aircraft was slowed down due to bad
weather. Its average speed is reduced by 100 km/h and by doing so,
the time of flight is increased by 30 minutes. Find the original
duration of the flight. 5

OR
(b) The denominator of a fraction is one more than twice the numerator.

16
If the sum of the fraction and its reciprocal is ZE, find the fraction. 5

State and prove Basic Proportionality theorem. 5

From a point on the ground, the angles of elevation of the bottom and the
top of a transmission tower fixed at the top of a 20 m high building are 45°
and 60° respectively. Find the height of the tower. 5

(a) A solid iron pole consists of a solid cylinder of height 200 cm and base
diameter 28 cm, which is surmounted by another cylinder of height
50 cm and radius 7 cm. Find the mass of the pole, given that 1 cm? of
iron has approximately 8 g mass. 5

OR

(b) A medicine capsule is in the shape of a cylinder with two
hemispheres stuck to each of its ends. The length of the entire
capsule is 14 mm and the diameter of the capsule is 4 mm, find its
surface area. Also, find its volume. 5

7> N

4 mm

-

A\,

L 14 mm

Ly
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TUE -G
3G @US T A TehUT STTETHd 997 & i Iedieh o 4 3T &
36. Ueh IS b Il o U 4 U1 & | 98 AR W $ HIS] bl 31U+ T H =H o fofu
20 T o TR =18 o BGH o Teeh A T 7 m. el T o Wi | Srerar g | aifed
s IR TH O 919 J 39k =] bl i W o It @ | SHfAY 39 39 & & I/ 3R
TG S =1 Ui fofan &t et =R dehan 2 |

YU o SR I I91 b 3T T -
(1) TSR ©E & HEH i &Fh 1A I |
(i) (a) 39 P & BT FABA A hITTC FTEH T8 =S T HH & |
HAYET
(b) fe TP TS H TH B 7 m T TG 10 m H fean S, o Uk =g gR
T Heh ITCT &1 T &AhS FTA I | (n = 3.14 <fifsm)
(iii) Ife Teh O Sl Wi 7 cm 1 B, A1 W bl fohaT &mhet =R formT T8 e 2
37. AT TRTEU ARG HiIvel 3T I JgH Hid §L TRINER 31817 T b 2 |
Taren <&t =afdaal o =ues T 3NYR | gEisTd il 3, SAawniies gfvneor Tt fafire
IS T A ohigd hidT & qUT UsHTR &THAT bl SGIdT 8, o188 BT AW ST 8 |

I oh SR T Teh LA +, I il /aareehi w1 3 forawor gest = amfoft
TS ST TTSTRI0T TEAT & SATIHTRIeh T80T o & & :
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36.

317.
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SECTION - E
This section consists of 3 case study based questions of 4 marks each :

A stable owner has four horses. He usually tie these horses with 7 m long rope
to pegs at each corner of a square shaped grass field of 20 m length, to graze in
his farm. But tying with rope sometimes results in injuries to his horses, so he
decided to build fence around the area so that each horse can graze.

Based on the above, answer the following questions :

(1) Find the area of the square shaped grass field.

(11) (a) Find the area of the total field in which these horses can graze.

OR
(b) If the length of the rope of each horse is increased from 7 m to
10 m, find the area grazed by one horse. (Use © = 3.14)

(i11) What i1s area of the field that is left ungrazed, if the length of the

rope of each horse is 7 cm ?

Vocational training complements traditional education by providing
practical skills and hands-on experience. While education equips
individuals with a broad knowledge base, vocational training focuses on
job-specific skills, enhancing employability thus making the student self-
reliant. Keeping this in view, a teacher made the following table giving
the frequency distribution of students/adults undergoing vocational
training from the training institute.

1
2

2

1



38.

(T:;i) 15-19 | 20-24 | 25-29 | 30-34 | 35-39 | 40-44 | 45-49 | 50-54
ﬂ%ﬁ:@?ﬁ 62 132 96 37 13 11 10 4
Iqierd & e At o I EifTe
() SR g 3w § agatsh ol <h et e =g 2 1
() (a) U HAThSl Y AT 1 [T hITT | 2
AT
(b) 50 T9 T B 3T W T Tl shl BT T <hITTT ST SATIHTRIeh TR0 of
=l 2

(iii) W=, AT TAT TgeTeh H IHIh Fa9 faafaw |

1

eIt o W & T M1 Teh WIfaaerett giEehiv & St ST hl 90 3R IS !
QAT & | 36 I | W@d g, Gt a1 = Hell 5 ST oh [ Teh AT T&AT @ h
FISHT §FTE | 38 HETT % Ugel BT bl T 2 I Tehell STUTST T F o HTh 30T
BABICC | T B H 3 FoREll 37T T | 0T R 3 A BH RIS ¢ | T THR
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Age 15-19 | 20-24 | 25-29 | 30-34 | 35-39 | 40-44 | 45-49 | 50-54

(in years)

Number of| 62 132 96 37 13 11 10 4
participants

From the above answer the following questions :

(1) What is the lower limit of the modal class of the above data ? 1
(11) (a) Find the median class of the above data. 2
OR
(b) Find the number of participants of age less than 50 years who
undergo vocational training. 2
(111) Give the empirical relationship between mean, median and mode. 1

38. Teaching Mathematics through activities is a powerful approach that
enhances students’ understanding and engagement. Keeping this in mind,
Ms. Mukta planned a prime number game for class 5 students. She
announces the number 2 in her class and asked the first student to
multiply it by a prime number and then pass it to second student. Second
student also multiplied it by a prime number and passed it to third
student. In this way by multiplying to a prime number, the last student
got 173250.

Now, Mukta asked some questions as given below to the students :

(1) What is the least prime number used by students ? 1

(11) (a) How many students are in the class ? 2
OR

(b) What is the highest prime number used by students ? 2

(111) Which prime number has been used maximum times ? 1
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